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BEZHRATL IEAESE

KEERRES TEFHMEZHEEK)

AIEL BKE O 20LPRELILRKEBELI-EDTHD,

XA IBMESR

x5 a4 -FE R FRTERS BHEg|#HE| BE ® %8 =

d7149 [RAKEEL T (Fi%H)| EALES h=1.2m m | 1.5 | 40470 | 60,705

d1172 | #ZEEY ChH L D) 10cmEL T m | 05 | 2250 1,125

d7103 | mkeEtT@mErL/2Er®|  HEEIES h=0.4m m | 05 7,070 3535

d4121 |[#KEERFRBIULKREDHY)| HARRERE. 1bkig. bkigEsSHY | VA 1 28,260 28,260

d4021 | #KERREBT D 25LLTF m| 2 1,400 2,800

d4502 | A—A—FLS5EFET Efti-EsL [ HFER| 3,030 3,030

d1031 KETL 50mm = 3,780 3,780

d4331 a7 HBEI W7 EET) ®50UTF MR 1 1,570 1,570

a1432 | ¥ FILitE S 7k42 (CIP,ACPH) ¢ 100 %20 & 1 14,850 14,850

20512 | SUSHI A &K & (SUS316) ® 20X 1,000 x| 1 22,890 | 22,890

a1532 | 17kig GR—L 3t SUS-SUSF) ®20 | 1 28,840 | 28,840

a0562 | SUSV 4y (SUS316) @20 @] 2 530 1,060

20552 | SUSBIKEEFRIESE(SUS316) ¢ 20 x 600 . N 2 20,490 40,980

a1622 | A*—%2/3L7 (FryFxH) ®20 @ 1 22,950 22,950

al712 | ZHFa7 (B&EH) 20 @/ | 1 1,630 1,630

a0872 | VSaAZ=A I EY ®20 @ | 1 4810 4810

a0112 HIVPY 4k 20 @ | 1 60 60

b8942 A—BELS ® 20 HBAEH @ 1 10,300 | 10,300
1) /7 gt (din,b) 115,105
2)EBEEE(dnb) 120,411]1)x 104.61%
3)Et(dnb) 235,516(1)+2)
4) INVgt (a) 138,070
5) R EE (a) 86,045|4)x 62.32%
6) &t (a) 224,115|4)+5)
7)&&t(dnab) 459,631/3)+6)
8) TEHE{fi+& 459,000 |=mxmeis
9)HETIEXEE 45,900(8) x 10%

10) IEFEEEE 504,900(8)+9)
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&5 = mnd - FE Rl BAKTER S BH|#E | BE % % W=

d7147 |RKIEEL I (EH)| EAEIES h=1.0m m [ 1.0 | 35090 | 35,090

d7813 IS TRAA T b 1004 T )Yzl B 6,810 6,810

d1031 KBTI 50mm B 1 3,780 3,780

a2432 | ANSTRY LHZ52T $ 100 @ 1 15,370 | 15,2370
1) /Mgt (dn,b) 45,680
2)FEREE(dnb) 47,785(1)x 104.61%
3)Et(dnb) 93,465|1+2)
4) Ihgt (a) 15,370
5)FERER(a) 9,578|4) x 62.32%
6) &t (a) 24,948|4)+5)
7)&& (dnab) 118,413(316)
8) TH Mt 118,000|Fmxmwmie
9)HEMIMELEE 11,800(8)x 10%

100 IEFaEHE 129,800]8)+9)




